
WRITING PERPENDICULAR LINE EQUATIONS
Perpendicular Lines have slope. The easiestformula to use is Point-slope

because t gives the slope m and a point on the line.

)irections: For #9-16, write and describe the perpendicular (L) slope. Then write the perpendicular
[near equation that passes through the given point.

9 Y = —3x + 2 and the perpendicular line
equation passes through ( 15, 7 ).

nil =

Y— Yl = m(x —xo

11 y = 4x — 6 and the perp n rcular line
equation passes through ( 18, -31 ).

nil = —l

Y— Yl = m(x — x!)

3+311 y -all.

13 y = — —x 
3

+ 5 and the perpendicular line

equation passes through ( -21, -44 ).

nil =

Y = m(x —Xl)

V (X + 21 )

15 y = —x — 9 an the perpendicular line

equation passes through ( -6, 81 ).
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12

14

1
y = —x 3 and the perpendicular line

4

equation passes through ( 6, -35 ).

Y —Yl = m(x —Xl)

Y = —x + 4 and the perpendicular line

equation passes through ( 10, -37 ).

nil =

Y —Yl 
= — x))

y = —x — 7 and the perpendicu ar line

equation passes through ( -24, 53 ).

Y— Yl = m(x — Xl)

l.) +24)
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16 y = 3x + 8 and the perpendic

equation passes through ( -18, 1 ).

Y —Y) = m(x — xD


